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\HDF 1 TH 135 145 280 150
WLDF2TH 249 280 529 248
Wil 1TH 86 107 193 109
L2 T H 493 488 981 476
o BT 1 T B 259 308 567 279
o BT 2 T B 229 202 431 211
TEET 1 TH 149 144 293 150
FTEE2TH 234 235 469 222
FTEE3TH 295 309 604 273
R 1 TH 140 182 322 167
R 2TH 158 205 363 214
FEET1T TH 234 261 495 266
FEET2TH 191 213 404 181
RLiEX1TH 354 396 750 390
RiEX2TH 165 195 360 192
KX 3TH 312 307 619 265
RLiExX4TH 219 205 424 199
AE 1 TH 630 664 1,294 627
AHE 2 TH 337 365 702 299
<L 1TH 322 304 626 332
X<IL2TH 341 323 664 354
*<IL3TH 400 466 866 462
ZR1TH 588 679 1,267 613
EZR2TH 802 782 1,584 697
ZR 3 TH 917 920 1,837 819
&1 TH 328 309 637 293
& 2 T H 884 900 1,784 778
& 3T H 994 982 1,976 933
x&B 4 TH 161 170 331 164
x&B 5 TH 62 63 125 40
= W H 597 570 1,167 540
2LtR1TH 755 773 1,528 766
21rtR27TH 142 148 290 115
=521 TH 598 684 1,282 590
=52 2 TH 252 248 500 289
m &a B 1,487 1,513 3,000 1, 281
I\ =t 14, 499 15, 045 29, 544 13,984
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m H B 1,613 1, 655 3,268 1, 481
T 5 93 102 195 T4
yis H 94 98 192 07
fid] 27 21 48 18
5 R 169 166 335 142
F H KW 94 93 187 07
= Mt 290 271 561 193
m % R 492 480 972 352
&R =] 171 187 358 135
DR H 263 231 494 203
Z & R 154 130 284 108
I\ & 628 H82 1,210 500
it £ R 480 494 974 487
m T X 464 447 906 360
+ B R 348 317 665 323
B R 207 204 411 145
722 I 2117 219 436 155
B i) 196 209 405 153
iy %8 14 12 26 11
i K M1 A 113 171 284 176
1\ =t 0,127 6, 084 12, 211 5, 150
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7] h82 563 1, 145 458
S EX 615 671 1,286 597
2] R 115 113 228 86
2] fid] 113 111 224 82
1t 207 204 411 154
F HBAH 398 423 821 280
% B B 148 151 299 106
1\ 5 2,178 2,236 4,414 1,763
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+Fr &5 L 390 407 797 355
T & <t 654 649 1,303 631
5 = 1,467 1,442 2,909 1,237
M R 76 T2 148 45
]I 1T H 156 163 319 136
]I 2T H 270 270 540 237
I\ ) 3,013 3,003 6,016 2, 641
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= A W 505 560 1,065 429
i R 115 108 223 86
PN pit 130 117 247 103
i [R 273 244 517 216
I\ ) 1,023 1,029 2,052 834
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o [R 213 209 42?2 150
I\ m B 70 55 125 51
w2 L 488 481 969 397
T B L 404 383 787 310
& I 274 244 518 222
z H 363 331 694 259
ey ] 48 40 88 38
F K/ H 106 104 210 84
I\ =t 1,966 1, 847 3,813 1,511
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2 P H A 274 285 559 245
B H 357 340 697 288
R =z AN 162 146 308 138
it ¥ L 298 248 546 239
N\ 15 113 144 257 120
it ) 141 133 274 101
F H 146 140 286 104
2 8 137 113 250 101
X B 26 20 46 20
I\ ) 1, 654 1,569 3,223 1, 356
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2 P @ B 566 625 1,191 485
X =2 H 264 2'74 538 245
R %8 140 161 301 111
L -2l 214 202 416 155
2 K R 21 2'79 550 205
= H 405 385 790 308
I\ =t 1, 860 1,926 3,786 1,509
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m 5 A 209 2117 426 156
A R 163 162 325 123
o] il 84 78 162 66
3F ] 50 47 97 39
X £ = 53 46 99 38
X A & 56 44 100 45
A B X 78 147 225 124
A R 137 118 255 103
I H 06 59 125 04
1\ B 896 918 1,814 758




[ZAB)IIHX]

JNE
B & R = = =
I 232 231 463 205
A # 245 248 493 238
£ =2 F h4 50 104 47
] I 16 15 31 19
& 5 69 66 135 56
N 5 616 610 1,226 565
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33, 832 34, 267 68, 099 30, 071




